
AMB181000DT  Pagina 1

REVISIE: 5-6-2019 



AMB181000DT  Pagina 2

Nr. Omschrijving Artikelnummer Nr. Omschrijving Artikelnummer

1 DUSTEC BOORSYSTEEM 5/8x16UNF. DPB0310000 50 LED XAM-N14032

2 CENTREERPEN TBV BOREN L-60MM. HT00600000 51 CONDENSATOR INCLUSIEF FASTONS XAM-N14033

3 KEERRING 17x32x7 XAM-E30950 52 LIBELLE CILINDERVORMIG XAM-N14034

4 KEERRING 12x22x4 XAM-E30A05 53 LIBELLE ROND XAM-N14035

5 O-RING 35x1,5 XAM-E4035A 54 SCHROEF 3,5x16 ZELFTAPPEND XAM-N14039

6 O-RING 85x2,0 XAM-E4084A 55 SCHROEF 4,0x20 ZELFTAPPEND XAM-N14040

7 KOGELLAGER 629 XAM-EA007D 56 ELECTROKABEL 1400W XAM-N14045

8 KOGELLAGER 6202 XAM-EA028F 57 TANDWIELBAK XAM-N14050

9 KOGELLAGER 6003 XAM-EA034B 58 TUSSENFLENS A-1810 XAM-N14051

10 KOGELLAGER 6203-2RSH XAM-EA036A 59 PAKKING XAM-N14096

11 NAALDLAGER 0810 XAM-EB008A 60 VELDHUIS XNB-N18009

12 NAALDHUIS 1210 XAM-EB015A 61 PRINTPLAAT COMPLEET 1800W XAM-N18010

13 NAALDLAGER 513 XAM-EN0105 62 VELD 1800W XAM-N18013

14 LAGERBUS 12x14x10 XAM-ES012A 63 ANKER 1800W XAM-N18014

15 PASPEN 4x12 XAM-F6Q112 64 ANKER COMPLEET 1800W XAM-N18034

16 SPIE 5x5x14 XAM-F6R214 65 TYPEPLAATJE A-1810 XAM-N18087

17 ZESKANTBOUT M12X30 XAM-FB2030 63 ANKER 1800W XAM-N18014

18 *ZESKANTBOUT M8x70 XAM-FC0870 64 ANKER COMPLEET 1800W XAM-N18034

19 PANCILINDERSCHROEF 4,8x32 XAM-FF1432 65 TYPEPLAATJE XAM-N18086

20 PANCILINDERSCHROEF 4,8x50 XAM-FF1450 66 SCHOTELVEREN X 3 XAM-FR5500

21 PANCILINDERSCHROEF 4,8x85 XAM-FF1485 67 GEBRUIKSAANWIJZING XAM-NMHX002

22 STELSCHROEF M5x10 XAM-FIK051 68 VEILIGHEIDSVOORSCHRIFTEN XAM-NMVX002

23 ZESKANTMOER M10 XAM-FM10S1 69 STEEKSLEUTEL SW24 XAM-G10040

24 SEEGERRING 13MM XAM-FR0130 70 OLIEFLES XAM-N14046

25 SCHOTELVEER 25x12,2 (=12,4) XAM-FR5250 71 ALU KOFFER ZVMKA1810N

26 SHIMRING 10x16mm XAM-FS10P2 72 DUSTEC RUBBER DICHTING ZANT050000

27 HOOFDAS 5/8""-16UNF" XAM-N14001

28 TANDWIEL XAM-N14003

29 TANDWIELAS XAM-N14004

30 SLIPTANDWIEL XAM-N14005

31 SLIPRING XAM-N14006

32 BORGRING XAM-N14007

33 LUCHTRING XAM-N14010

34 LAGER BESCHERMKAP XAM-N14011

35 ANKERTANDWIEL XAM-N14012

36 ACHTER-HANDGREEPDEEL RECHTS XAM-N14015

37 ACHTER-HANDGREEPDEEL LINKS XAM-N14016

38 HANDGREEP COMPLEET XAM-N14017

39 SLIPKOPPELING COMPLEET XAM-N14018

40 KOOLBORSTELHOUDER XAM-N14020

41 KOOLBORSTELSET XAM-N14021

42 KOOLBORSTELDOP XAM-N14022

43 KABELTULE XAM-N14023

44 KABELKLEM XAM-N14024

45 KLEMRING XAM-N14025

46 STANG ZIJHANDGREEP XAM-N14026

47 HANDVAT ZIJHANDGREEP XAM-N14027

48 LAMINAAT STICKER TBV TYPE- PLAAT XAM-N140281

49 SCHAKELAAR 8A XAM-N14030

REVISIE: 5-6-2019 


